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SECTION A: ANSWER ALL     QUESTIONS IN THIS SECTION

QUESTION 1

a) List the five major woody vegetation types of Zimbabwe, giving the main tree 

species.              [10]

b) Describe the key determinants of savanna vegetation structure and function.          [10]

QUESTION 2 

a) Outline the response of grasses to defoliation.                                [10]

b) Describe how plants avoid herbivory.                                                                       [10]

QUESTION 3 

a) Describe how you would assess the success of using an enclosure.            [10]

b) Elephants play a facilitative role in the environment. Support this statement.        [10]

SECTION B: ANSWER ANY TWO QUESTIONS IN THIS SECTION

QUESTION 4 

a) Explain why in the grasslands and savannas of the more arid regions, High 

Performance Grazing might perform better than High Utilisation Grazing. [6]

b) Describe how you would use the benchmark method to assess a grassland.          [14] 

QUESTION 5

       Describe the different methods that can be used to control bush encroachment.           [20]

QUESTION 6 

Describe how you would use the Ivy’s Veld condition assessment method to assess a       
rangeland.                      [20]

QUESTION 7 

       Describe the Clementsian successional model and outline its shortfalls.          [20]

END OF EXAMINATION 
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